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bide natbives
Recell the Fondamentel Theorem of Caleuls (FTC):
02 b6ddx = FGJ[. = F(b)-Fla),
where F(x) is ony anbidervahve of £ umeoning F ) =£0x),
E o

() F—mj @ c»mh&erwa{rwcs F(X) omoQ G(X) o'F p(X) "X
( I)) EVa.lua:\e S 1 X Jx i two Way/s.

S olbﬂbh 3

(3 F09= 5 corks, sme F )= 3 “3x%= %2 £60, But 5o does
G’(X)""xs— S)sm G,(X) =5 3X +O-X "F(X)
(b) By
13
81 adx-‘-,x_i/q =.‘_’j-£ = 641 =63 =421
3l 3 3 3 3
OR
y 4
Six&x=<xi+5) =(£+/s/)-—(£@
3/, A3 3
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Capl FACT
—s i€ F&x) is ane onbdernstive of ‘F(X),‘l‘lcuo._m'(

cnbidleabn= oF £0x) is of the foru
F(x)+c

‘For sohce col/tﬁ‘éﬁ-wll.' C . \/
Lets woride

" eb, definde it \
W W\ 1h s W)
S £ (X.)CQ)C of 6D Ax” =

for the set of all atidervatives of )
Exg,:,.,._ ':35: Fm& {:‘v.‘,sc- :MO(&"‘?MC[B nn'éﬁro.is an al«cck

L(OUI" Lu@rk.

1) ScosGdAdx = sm(x)+C.
The COOL FACT says’ to find) Sm"(x)&c,

a.\ 'F'I's'é FIWQ SOme. [C\.n ) ah‘(?;&zrwo.{'ltIe 010 F(X)l‘
B) then tock on the orbidvary constost “+c™N DONT FORGET
' THIS STEP!!

Ckec,k‘
A CanbMte] = coslx)*+0O = cos[x\\/
dx

3) § sin(x) dx = —cosid+C.

Chcc.ki
_i [-cos(X)"’C.]"‘ -(-sm(x))*-O = sm(x).
Ay
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#) § sn0dx = -a,z(ag) .

Check:
d —%(&x)-r(,} = <l (=sm(3x)-2)tO = sm(2x). /
dx & A

5) Se—?ycﬁ\( = §7:f+c.

Check: 4. [,eli +c]=_l-.e77 1:0 = ./
o()/ i

6) For oy b=zo,

In(b
Chc¢k=i[_bx_+c]= L b0 =/
Ax L Inlb)

7§ (3t 1) 4t = -2 tHQtec.
Check: DY,

Rsmark. Recell 'U\d-'e the FTC sa(ir . ‘For Ae.{?)m{e. mfe;g raJS, Proc,eacg
eSSem‘lual(t{ as obove, but re")lace. the “+C" with “[f z

For e.)(a-w\?le .

™ /Y4
8) Soms:‘n(&x)flx =-&)/ /= -M ‘(’M? =-0+1{=1.
A L & A A A

1 = I . :
Ci)Soe-yfﬁ)’ ‘;.ﬁ-ﬁ/= M=l el
1 /o
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Fma.lll.’, oh IVP :

'O) F;v\& aguhc{;loh F(Z) u..n‘l"\ FI[Z):"“)[ZH ond F(1)=-4,

Solution.

Fiest, to fudl F(2 quen F (2 we atidiflerantiate (do on mdefimide
mfeojm.l)‘ ;
F(z)= S Flz\dz - §(zeddz= 224 2 ¢c. (-X)

A/axf)fopmﬂ C; e P’lﬁ'u\e IC F(’):“LI m‘é: (*)
-4 = F()=20)% 1 +C = 3¢C
Salw-. ‘pbr C:
Ce-Y4-3=-7
Plf’j this back mto (X)) fo Pinish

Flz)=2z%z-7.



